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Perim .
erimeter, Area and Volume

Exercise-1

@ perimeter of the square = 4% gide

[b} perimeter of the square = =4x6cm= 24cm

4x5em = 20em
(@) Perimeter of the square = 4x85 e = 34 cm

) perimeter of the square = 4 AE = Them

o perimeter of the rectangle = 2 (I+b)

(a) Perimeter = 2(6+4)em =2x10em = 20em
(b) Perimeter = 2(5+2.5)cm = 2x75em = 15cm
() Perimeter = 2(3+12)cm = 2x42cm = 8.4cm

_ We know that, perimeter of asquare = 4 xside

¢ Derimeter = 4 x 45cm = 18cm

s e Perimeter _ 624 m = 156m

¢ Perimeter = 4x9.25cm = 37cm.

Perimeter =~ 216

¢ Side = = =3
4.

Now, perimeter of the rectangle = 2 (length + breadth)

¢ Perimeter = 2(I+b)

m-—; 54 m

400 = 2(140+D)
=5
= 400 = 280+2b. -
= b =60 cm
- op =120=

2 g(4.3+2.8)'m =2x71m=142m

— 21=60 = [=30m

¢ Perimeter = 2(I+P)

¢ Perimeter = Z(Hb)

* Perimeter = 2_-'.(17-{'}’) 78 =2 (1+19)
At _ 78= 2]+ 38 e
:?2’_40:$1==20m _
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Putting the values in table, we getl

Side of Perimeter Length Breadth m
of rect
the square an
1 qq.m 18 cm 140 cm 60 cm 400 Cmﬂe
T 0 i
156 m 624 m 4.3 m 28 m @
925 cm 37 cm 30 m '15 m ED“Q\
54 m 216 m 20 m 19 m 78 m
; ' Z8m
Perimeter of the square = 4 x side
N 84 = 4 xside
84
= sidc=Tm=21m.

The length of the lace is equal to the perimeter of the rectangyla,
table cloth.
So, perimeter=2(l+b)=2(6+4) cm=2x 10 cm =20 cm.
The distance covered by Rahul to complete one round of the park
is equal to the perimeter of the rectangular park.
Perimeter = 2(I+b)=2 (30+22)m=2x52m=104m
Distance covered by Rahul to complete 3 rounds of the park
=3x104m=312m
S0, the distance covered by Rahul to complete 3 rounds of the
parkis 312 m.
The perimeter of square park = 4xside

=4x110m = 440m
Thus, the total wire required to fence the square park is 440 m.
Cost of fencing 1 m =% 15
Costoffencing440m = 7 15x440 = X 6600
50, the cost of fencing the square park is ¥ 6,600.
Perimeter of the triangle = sum of the lengths of its sides
= (25+25+36) cm = 86 cm
50, the perimeter of the triangle is 86 cm.

The Jength and breadih of rectangular park are 20 m and 13 m
respectively. :

Perimeter =2 (I+b)=2 (20 + 1B)m=2x33m=66m

Aman jogs and completes 4 rounds of the park everyday.
Distance covered by Aman everyday = 4x66 m = 264 m."_-'

Thus, Aman jogs a distance 0f 264 m daily. e
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Number of squares = 99 Zle

Exercise.
] (3} Number of C(}mplete S(]uares =4
Number of half squareg - 4

Number of more than haj¢ SqQuares =)

1
SJArea= | 444x- 4]
( 2 UJHM* 2) sq. Cm =6 sq. cm

(b) Number of complete Squares =3
Number of half squares =2

Number of more than half squares = ()

. e 1
-, Area= {3+2><-2—+0]=(3+1)sq.cm=4sq.cm

(c) Number of complete squares =4
Number of half squares =4

Number of more than half squares=0
.. Area= [4 + 4x%+0)=(4+2) sq. cm = 6 sq. cm

2. (a) Number of complete squares=1
Number of half squares =1
Number of more than half squares =3

- 3 = 5+ 3) sq. cm = 4.5 5q. cm
. < L —+3]—.(1+U' 1 -
- Area [1+ *5

(b) Number of complete squares= 1
Number of half squares =1 |
more than half squares =1

i B D.5+ll) sq. cm = 2.5 5q. cm
; s Y=Y
/. Area= 1+1x2

=3
If squares =1

Number of

(©) Number of comple
Number of half squares
Number of more than ha

l+1}=(2+1._‘5+1) sq. €
;. Area= [2+3x2. o

#M

m =4.5sq. cm

Mathgma}iﬁﬁﬁ(Ter’m.“

Scanhed w'it'h CamScanner




M:l»l.. i

puzzle

Exercise-3
=24cm = 240 mm

= 40 mm
— 240 x 40 sq. mm = 9600 sq. mm

Length of rectangular tile
Breadth of rectangular tile
Area = IxD

Length of the rectangle = 116 m

1 -t 3
Breadth of the rectangle = Py x length 3 116m = 29m

Area = 116x29sq.m=3364sq.m

Length of the square cloth = 48 cm
Perimeter = 4x] =4x48cm = 192cm

Area = Ix] = 48x48sq.cm=2304sq.an

So, the perimeter of square cloth is 192 cm and area is 2304 sq.cm

Length of the rectangle = 6 m
Breadth of the rectangle = 120cm = 1.2m
Area =6x12sq.m =7.2sq.m

The area of the rectangular floor = 16 x11sq. m = 176sq.m
The length of each tile = 40cm= 0.4m
Area of each tile= 0.4 x 0.4 sq. m= 0.16sq.M

Area of floor
Area of one tile

_ 176
i

Thus, number of tiles required is 1100,

Thus, number of tiles required =

Perimeter of the square field =176 m
= 4x] =176m

176 it -
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Aarcaofthefield = [ x| . 44x 44 5q.m = 1936
.m = 1936 q. m

Now, the cost of laying grass is ¥ 5,50 per sq. m
. The cost ot laying grass on 1936 sq. m =% 5,50 » 1936 =% 10,648

_ ength of the mat = 35m
" Areaof rectangular mat = 5.6 sq. m
_ Area 5.6
Breadti Length 5 35 =16m
Thus, the breadth of rectangular mat is 1.6 m.
8 Length of the sheet = 324 cm
Breadth of the sheet = 144 cm

Area of thesheet = (324 x 144) sq. cm
Now, lengthofacard = 16cm
breadthofacard = 12cm

Areaof a card = (16x12) sq. cm
A f heet
Number of cards that canbe made out of a sheet= rea of theshee
27 Areaofacard
= h 9— 27 x9 =243
Y6 x ¥, . '

Thus, 243 cards can be made.
9. The distance covered by a boy in going five tim
S i .
quare park is 1025 m 1025
Perimeter of the square park = —£— m = 205m
Now, perimeter of square = 4 x1

es around the

= 4] =205
= ] = 25
ey
Areaof thepark = 1x! ;
205 x 205
=?.q-5-x-2£25— SR e
= 2626.56 5q. M
5 thearea of the parkis 2626.56 5q. M-
- Length of the rectangle = 50¢™
Breadth of the rectangle = 42 €™ ¥
Area of the rectangle = 90 48 9. con =, 2en0 84 T
Side of the = 48 cm
: square F
S Area of the square = 48 48 sq. cm = 2304 59 €™
o, -y
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Difference = (2304 - —-2250)sq.cm = 54 Sq. o
Thus, square has 54 §(. cM more area.
11. () €3 > Area of part ]
5 I Lem  Area of part II
I = (4% 2)sq.cm 185q-cm
Area of combined figure = (8+5)sq.cm = 13 5q. em
(b) <—— 8cm —> Area of part I
4em ; = (8x4)sq.cm = 33 0
- Cm:r} Area of part II |
4“:[: H = (4x4)sq.cm = 16 Sq. cm
<4 cm—>

Area of combined figure = (32 +16) 8q.cm = 485sq.cm

(c) Se—tme—# Area of part ]
; 1 |1m
T <Sm—> = (6x1)sq.m = 5sq.m
7midl Area of part II
<3 m>
l T i =W aljsgm =20
e Area of part I1I

= (3x1)sq.m = 3sq.M

Area of combined figure = (5+7+3) sq.m = 15sq.M

d R 41."‘ 3 Area of part I
e moll = (2x1)sq.m = 25¢™
L Area of part II
f : ' J 5 .12 sq .m
; = (4x3)5q.m -
4 m

Area of part i} :

""'(2><1)sq m = 254"

SR al ,
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2m
(e) 1(_ Y .~ = vl'i = Area of part ]
s, 0 19mgma g
" lll $q g Area of part ]

B2 (4 X I.S) Hq, m=6 ‘,({ m
Area of part 11

==

| (6x1.5)sq.m = 93q.m
610N = (3+6+9)sq.m = 185q. m
The total cost of whitewashing a wall

Area of the shaded re

at ¥ 25 persq. mis T 12150.
Total cost

Areaofthewall = —— % 0o
Rate
< 12150
Areaofthewall = s
25 486 sq. m
Also, length of the wall = 27 m
Breadth of the wall = el M m=18m
ength 27

So, the breadth of the wall is 18 m. '
Exercise-4

Let ABCD represent the rectangular park and the shaded region
represent the path 3 m wide. 5

PQ=(125+3+3)m=131m
QR=(65+3+3)m=71m

Area of rectangle ABCD = AB xBC 3m

=8125sq. m
Area of rectangle PQRS  =PQ* QR
= 131 X ?1 Sq- m

=9301 sq. m
= Area of rectangle PQRS — Area of

rectangle ABCD
=9301sq. M~ 8125sq. m

= 1176 5q. m

Area of the path

Mathematics-5 (Term-1)

@
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angular park and shaded regijon %
D

2. Let ABCD be the rect
the path 10m wide.

AB=150m, BC=125m
Length of the pathway = BC

Breadth of the pathway =10m A L |
Area of the pathway = length breadth

= 125 x10sq. m =1250 sq. m

=125m

3. Let ABCD be the square park of side 120 m.
The shaded region represents the path 5 m wide.
PQ = (120-5-5)m=110m
Area of square ABCD = 120 % 120 sq. m = 14400 sq. m
Area of square PQRS = 110 x 110 sq. m =12100 sq. m
Area of the path = Area of square ABCD — Area of square PQRs |
=14400 sq. m - 12100 sq. m Dp———
=2300sq. m : '
Cost of cementingof 1sq.m =325
Cost of cementing of 2300 sq. m =325x2300 ,

s &

Shacmesenie), I
=z57500 2 ¢ 7§
Thus, the area of the path is 2300 sq. m and the cost of cementir

is ¥ 57,500.

4. Let ABCD be the rectangular park and two cross roads, eacht |
width 5 m run at right angles through the centre of the park.
PQ=70m, P5=5m, EH=45m, EF=5m, KL=5m |
Area of thecrossroads = Area of rectangle PQRS + Ared c! .

> 6. rectangle EFGH - Areaof squareKL¥
5 @1 — B——«| =PQxPS+EHxEF-KLxKL __
K 1L
‘el ¢ 70x55q. m+45x5sq. m-5*2"
e — e S o F

EF v = 3505(1 m + 225 sq. m - ~-25sq.Mm

< 70 m >
= 575 5q. m - 25 sq. m =5505¢- ™
5. Length of the framed photograph =32 cm

Breadth of the framed photograph

=24 cm
Area of the framed photograph = length x breadth

Mathematics-5 (Term-1) o




=32 cmx24cm =768 cm’
Length of the photograph =32 cm -3 cm -3 cm

5ot =29cm -3 cm=26 cm
readth of the photograph =24 cm-3cm-3cm
§ =21cm-—3cm=‘18cm
Area of the photograph =length x breadth
$i - | _26cmx 18 cm=468cm’
.. Areaofthe frame = Area of the framed photograph
— Area of the photograph

=768 cm’ — 468 cm’ =300 em’

Thus, the area of the frame is 300 cm”.

6. Let ABCD be the table cloth and the shaded region represent the
lace of uniform width. -
PQ=(2+0.12+0.12) m=224m
QrR=(1.2+ 0.12+0.12) m =1.44m

Area of shaded region = Areaof PQRS - Area of ABCD

' Q _ PQxQR-ABxBC

=224 x 1.4 sq.m-2x12sq.m

1., =32256sqm-24sq.m

= (0.8256sq. m = 0.8256 x 10000 sq. cm

R = 8256 sq. cmM

2m

Thus, area of the border 18 8256 sq. cm.

7. Let ABCD represent the carpet and PQRS be the floor of the room.

PQ=RS=15m, PS=QR=9m
AB=(15-2-2)m=11m,BC=(9~2—2)m=5m

Area of the carpet = Area of ABCD
- ABxBC=11 x 5 sq. m =55 sq. m

Area uncovered by the carpet = Area of PQRS —Area of ABCD
] 2 =PQxQR-55sq. M

o . _15x9sq. m-55sq. m
s =1355q.m—555q.m=805q,m
; ST Thus, area of the carpet is 55 sq. m and
| area uncovered by the carpetis 80 sq. m

15m @ - Mathematics-5 (Term-1)
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8. Let ABCD be the floor of rectangular room and ﬂ‘tesmded reg i
represent the verandah. — i

AB=CD=55m, AD=BC=4m
PQ=(55+225+225)m=10m

QR=(4+225+225)m=8.5m

Area of the verandah = Area of PQRS - Area of ABCp
= PQxQR-AB xBC
=10x8.5sq. m-55x4sq. m
= 855q. m-22sq. m=63sq.m

Cost of cementing the floor per sq. m =% 200

= Cost of cementing the floor 63 sq.m =% 200 x 63 =3 12600

Thus, the area of the verandah is 63 sq. m and the cost of |
cementing is ¥ 12600.

Exercise-5

1. [ =40cm, b=24cm, h=18cm
V=Ixbxh = 40x24x18 cu. cm = 17280 cu. cm
2. V=IxIx]=62%x62x62cu. cm = 238.328 cu. ¢
The cubical container can hold 238.328 cu. cm of water.
3. (a i~4cm be=lem, h=92%m
=Ixbxh =4x1x2cu. cm = 8 cu. cm
(b) J’ = 2.5cm
=[x[x] = 25><25x25cu cm = 15.625 cu. cm
4. Volumeofonebnck (2016 % 8) cu. em '
Lengthof thewall = 10m = 1000 cm
Breadthofthewall =5, = 500 cm
Heightof the wall = 64 cm

Volume of the wall = 1000 x 500 x 64 cu. cm

_ _Volume of the wall

Number of bricks required
olume of one brick

So, 12500 bricks will be required.

Mathematics-5 (Term-1) @
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yolume of the water tank = 574 ,_ d
pength of thewatertank = 14 C‘m 000 cu. em
pepthof the watertank = 45,

. width of the water tank = —_Yolume |
length x depth :
_ 7600012800
1_4,66.)(_4_5_1 =80 cm
5o, width of the water tank is 80 cm.
6. Length of the cube = 60 cm
- Volume of the cube =60 x 60 x 60 cu. cm

Volume of the metalrod =180 x 120 x 100 cu. cm

. Number of cubes formed = Volume of the metal rod
Volume of one cube

_Bf}é’sﬁ'x:z};ﬂ‘xlﬂﬁ Sad *

So, 10 cubes are formed.
Mental Maths Corner 1

1. (a) (iv) Area of table top=24* (3 3) 5q. cm =2165¢. cm §
(b) (iii) 1 sq. cm = 100 sq. ™M g
(c) (ii) Length of the park =1 (say) ?
o Ix[=225sq.m | E
—x]=(15%15)sq. ™ Ef
=[=15m g

(&) (i) Area of rectangle = ength” breadth E’
540 =36 * breadth i

= breadth = %3{1 =15 cm B : gif
_gx9x9cu.cm=

(e) (iv) Volume of cube 90 = 4 x side=>side = 5cm

2 ide= s
o Mathematics-5 (Term-1) -

() (ii) Perimeter of square (127)
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2. (a) 256sq.m
-+ Perimeter of s

quare = 4 x side

side
Side x Side: 16 X 16 Sq.m‘-=2563q.m

]

Area

(b) sq.cm
() 8cu.am Volumeofcube=2><2><2cu-cm~8 cu. cm

(d) 1000
Review Exercise

1. (a) Perimeter of square=4x/=4x13cm=>52cm
(b) Perimeter of triangle= (7 +6 +3) cm =16 cm
(c) Perimeter of rectangle=2 (I+b)=2(10+4)m=2x14m=28my
(d) Perimeter of square=4x/=4x17 cm =68 cm
2. (a) I=85¢cm, b=2.5cm
<. Areaof rectangle=/xb=85x2.5sq. cm =21.255q. cm
(b) I=32m, b=05m
. Area of rectangle=Ixb=32x 0.5 sq-m=16sq. m
3. Thelength of rectangular field = 72 m

Itsbreadth = % x length = % x72m=24m.
Area=Ixb=72x24sq.m =1728 sq. m

4. Side of the square tile = 12 o
Area of one tile=12 x 12 5q.cm =144 sq. cm
Now, length of the floor = 3.6m
Breadth of the floor =2 m

Area of the floor =369 $q.m=7.2sq.m
= 72000 5q. cm

Number of tiles placed on the floor = firen/of the foor
Area of one tile

500
#2000

=—— =500

£

S0, 500 tiles can be Placed on the floor.

Mathematics-5 (Term-1) . @
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perimeter of the shaded portion

g @ )
.—:(2+6+6+2+6+6+2+6+6+2+6+6)m Al I
=56m e |6 " ? &
MYmiET ;
Now;, area of complete figure = 14 x 145q. m i nl
~1965q. m | g
Area of each unshaded square =6 x ¢ sq.m =365q ml‘4 5
». Area of 4 unshaded squares =4 x 36 sq.m =144 sq. m
Area of shaded figure =(196- 144) sq. m =52 sq. m.
() Perimeterof shaded portion =(8+7+3+5+5+2)cm
=30 cm 8 cm
Now, area of figure] =(8x2)sq.cm § sl s
=165q.cm ap 3

and area of figure Il =(5x3)sq.cm
. =15sq.cm 3cm

Area of shaded portion = (16 +15) sq. cm =31 sq. cm.

. 6. Thetotal cost of flooring a room at ¥ 80.50 per sq. m is ¥ 4830.

4830
80.50

Also, length of the floor= 8m

. Area of the floor = =60sq. m

Area =-6—0- m=75m

.. Breadth =

Length 8
7. Length of rectangle = 144 cm
Breadth of rectangle = 80cm

Area = 144 x80sq. cm
= 11520 sq.cm = 1.152sq. m

So, area of the rectangle is 115259 ™
. Length of the rectangle = 70m
Breadth of the rectangle = 56m
=2(+b)=

2(70+56) m_ o |

Perimeter

- Mathematicss5 (Torm-t)
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Areca of rectangle =
ter of rectangle

252

4xsgide = 252 = 5ide==—4— m= 63 m

Now, perimeter of square = perime

So, arca of the square = 63 x 63 sq. m = 3969 sq. m
Difference in areas = (3969 —3920) sq. m = 49sq. m
So, square has 49 sq. m more area than the rectangle.

9. Length of the swimming pool=25m
Its breadth =10 m

Depth =3 m
~. Volume of water in the swimming pool = (25x10x3) cu.m
= 750 cu. m

= 750000 ¢ [:2 Tou.mi= 1000 ¢
So, 750000 ¢ of water is required to fill the swimming pool.

10. Length of rectangular tank =3.5m
Depth =0.75m
Volume =4.2 cu.m

Volume
length x depth

42
3.5 x 0.75

2 4
b4 « 100

35 x 75
5 3
.So, width of the tank is 1.6 m. 1

Width of the tank =

8m 1.6
=—m =16m
5

=

1L Length of resulting cuboid = 5x4 cm = 20 em
Breadth = 4 cm
Height = 4 cm

. Volume of resulting cuboid = [ x b x h

=20x4 x4 cu.cm

= 320 cu. cm
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13.

Length of cubica] box =

o 120 cm
olume of cubical box = (120 x 120 x 120 cu, em
AlSO, volume of one cuboidal book = (20x12 % 6) cu. cm

Number of books that can be filled in the cubical box

volume of cubical box
volume of one cuboidal book

—
—

6106 % 126 120
e W

1%8' X -HI’ X ,61
50,1200 books can be filled in the cubical box.

Length of painting = 2.5m

Breadth of pamtmg =1.8m
Perimeter of painting = 2 (length +breadth)

=2(25+1.8)m

=2x43m

= 8.6m
Thus, Meenu should bring 8.6 m of rlbbon

HOTS
i board are

The only possible dimensions of the rectangular boa

length = 6 units,

th= 3 units
bread 2 (6+3) = 18 units,

a2 (I1+b
Perimete s (%3 = 1850 units
e o | values of perimeter and area of the
erica

In this way, the num

rectangular board are equal
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